

Gevrey and analytic hypoellipticity on the torus for non-linear operators constructed from rigid vector fields

Chiara Boiti

Abstract

We give a result of global Gevrey and analytic regularity on the torus for non-linear operators constructed from rigid vector fields.

Let \mathbb{T}^N be the N -dimensional torus and split $\mathbb{T}_z^N \simeq \mathbb{T}_t^m \times \mathbb{T}_x^n$. Let us then consider, for $u \in C^\infty(\mathbb{T}^N)$ and for some integer $n' \geq n$, the operator

$$P = P_u = P(x, u, D) = \sum_{i,j=1}^{n'} a_{ij}(u(t, x)) X_i X_j + \sum_{j=1}^{n'} b_j(u(t, x)) X_j + X_0 + c(u(t, x)) \quad (1)$$

defined for $z = (t, x) \in \mathbb{T}^m \times \mathbb{T}^n$, where the real analytic coefficients $a_{ij}(u)$, $b_j(u)$ and $c(u)$ are complex valued, but the real analytic rigid vector fields

$$X_j = \sum_{k=1}^n d_{jk}(x) \frac{\partial}{\partial x_k} + \sum_{k=1}^m e_{jk}(x) \frac{\partial}{\partial t_k}, \quad j = 0, \dots, n' \quad (2)$$

are real valued (*rigid* means that the coefficients d_{jk}, e_{jk} do not depend on t).

An example of operators of this type is the following:

$$P = \partial_x^2 + \partial_y^2 + \sin^2 x (1 + a^2(u(t, x))) \partial_t^2, \quad (3)$$

for a real analytic function $a(u)$.

1991 *Mathematics Subject Classification* : Primary 35B65, 35B45; Secondary 35H10, 35H20.

Key words and phrases : Gevrey and analytic regularity, non-linear operators, torus, sums of squares of vector fields.

The problem of regularity for the operator (3) in the C^∞ , analytic or Gevrey classes on the torus is quite interesting since even in the linear case ($a \equiv 0$) we have a different behaviour on the torus and locally in \mathbb{R}^3 . More precisely, the operator

$$P = \partial_x^2 + \partial_y^2 + \sin^2 x \partial_t^2 \tag{4}$$

is C^∞ hypoelliptic locally in \mathbb{R}^3 (cf. [H]), but it is not analytic hypoelliptic locally in \mathbb{R}^3 (cf. [BG]). On the contrary, it is C^∞ and analytic hypoelliptic globally on \mathbb{T}^3 (cf. [X], [CH], [T]). Moreover, Bove and Tartakoff obtained in [BT] a sharp result of non-isotropic Gevrey hypoellipticity for the operator (4), proving that it is $G^{3/2,1,2}$ -hypoelliptic locally in $\mathbb{R}_x \times \mathbb{R}_y \times \mathbb{R}_t$. Finally, we proved in [BZ2] that (4) is G^s -hypoelliptic globally on \mathbb{T}^3 for all $s \geq 1$ (identifying $G^1(\mathbb{T}^N)$ with the real analytic class $\mathcal{A}(\mathbb{T}^N)$).

The next step is therefore the study of C^∞ , analytic and Gevrey hypoellipticity for the non-linear operator (3), which is of the form (1). The C^∞ -hypoellipticity on the torus for the non-linear operator (1) can be proved by the use of para-differential operators, following [X]. In [BZ2] we fixed then a solution $u \in C^\infty(\mathbb{T}^N)$ of the equation $P_u u = f$, for P_u defined by (1) and $f \in G^s(\mathbb{T}^N)$, and investigated, for all $s \geq 1$, G^s -hypoellipticity on the torus for the operator (1) and for its transposed operator tP_u defined by the relation

$$\langle {}^tP_u v, w \rangle = \langle v, P_u w \rangle \quad \forall v, w \in G^s(\mathbb{T}^N),$$

where $\langle \cdot, \cdot \rangle$ denotes the scalar product in $L^2(\mathbb{T}^N)$.

We write down here the computation of the transposed operator tP_u of P_u , that we omitted in [BZ2]:

Lemma 1.1. *If P_u is defined as in (1), then its transposed operator tP_u is given by*

$$\begin{aligned} {}^tP_u = & \sum_{i,j=1}^{n'} \bar{a}_{ji}(u) X_i X_j + \sum_{j=1}^{n'} b_j^*(u, X_1 u, \dots, X_{n'} u) X_j - X_o \\ & + c^*(u, X_1 u, \dots, X_{n'} u) + \sum_{i,j=1}^{n'} \bar{a}'_{ji}(u) (X_i X_j u), \end{aligned}$$

where $\bar{a}'_{ij}(\cdot)$ is the complex conjugate of the first derivative of $a_{ij}(\cdot)$ and

$$\begin{aligned} b_j^*(u, X_1 u, \dots, X_{n'} u) = & \sum_{i=1}^{n'} (\bar{a}'_{ij}(u) + \bar{a}_{ji}(u)) (X_i u) \\ & + \sum_{i=1}^{n'} \left[(\bar{a}_{ij}(u) + \bar{a}'_{ji}(u)) \left(\sum_{k=1}^n \frac{\partial d_{ik}}{\partial x_k} \right) \right] - \bar{b}_j(u) \end{aligned}$$

$$\begin{aligned}
 c^*(u, X_1u, \dots, X_{n'}u) &= \sum_{i,j=1}^{n'} \bar{a}''_{ji}(u)(X_iu)(X_ju) \\
 &+ \sum_{j=1}^{n'} \left\{ \sum_{i=1}^{n'} \left[(\bar{a}'_{ij}(u) + \bar{a}'_{ji}(u)) \left(\sum_{k=1}^n \frac{\partial d_{ik}}{\partial x_k} \right) \right] - \bar{b}'_j(u) \right\} (X_ju) \\
 &+ \sum_{i,j=1}^{n'} \bar{a}_{ij}(u) \left[X_j \left(\sum_{k=1}^n \frac{\partial d_{ik}}{\partial x_k} \right) + \sum_{k=1}^n \frac{\partial d_{jk}}{\partial x_k} \sum_{k=1}^n \frac{\partial d_{ik}}{\partial x_k} \right] \\
 &- \sum_{k=1}^n \frac{\partial d_{0k}}{\partial x_k} + \bar{c}(u) - \sum_{j=1}^{n'} \bar{b}_j(u) \left(\sum_{k=1}^n \frac{\partial d_{jk}}{\partial x_k} \right).
 \end{aligned}$$

Proof: Let us first compute tX_j , for $j \in \{0, 1, \dots, n'\}$. Since $u, v \in G^s(\mathbb{T}^N)$ and d_{jk}, e_{jk} are all real valued:

$$\begin{aligned}
 \langle {}^tX_j v, u \rangle &= \langle v, X_j u \rangle \\
 &= \int_{\mathbb{T}^N} v(t, x) \left(\sum_{k=1}^n d_{jk}(x) \frac{\partial u(t, x)}{\partial x_k} + \sum_{k=1}^m e_{jk}(x) \frac{\partial u(t, x)}{\partial t_k} \right) dt dx \\
 &= - \int_{\mathbb{T}^N} u(t, x) \left(\sum_{k=1}^n \frac{\partial}{\partial x_k} (v(t, x) d_{jk}(x)) + \sum_{k=1}^m \frac{\partial}{\partial t_k} (v(t, x) e_{jk}(x)) \right) dt dx \\
 &= - \int_{\mathbb{T}^N} u(t, x) \left(X_j v(t, x) + v(t, x) \sum_{k=1}^n \frac{\partial d_{jk}(x)}{\partial x_k} \right) dt dx,
 \end{aligned}$$

i.e.

$${}^tX_j = -X_j - \left(\sum_{k=1}^n \frac{\partial d_{jk}}{\partial x_k} \right).$$

Let us now compute tP_u :

$$\begin{aligned}
 \langle w, {}^tP_u v \rangle &= \langle P_u w, v \rangle \\
 &= \sum_{i,j=1}^{n'} \langle a_{ij}(u) X_i X_j w, v \rangle + \sum_{j=1}^{n'} \langle b_j(u) X_j w, v \rangle + \langle X_0 w, v \rangle + \langle c(u) w, v \rangle \\
 &= \sum_{i,j=1}^{n'} \langle X_i X_j w, \bar{a}_{ij}(u) v \rangle + \sum_{j=1}^{n'} \langle X_j w, \bar{b}_j(u) v \rangle + \langle w, {}^tX_0 v \rangle + \langle w, \bar{c}(u) v \rangle \\
 &= \sum_{i,j=1}^{n'} \langle X_j w, {}^tX_i (\bar{a}_{ij}(u) v) \rangle + \sum_{j=1}^{n'} \langle w, {}^tX_j (\bar{b}_j(u) v) \rangle \\
 &\quad - \langle w, X_0 v \rangle - \left\langle w, \left(\sum_{k=1}^n \frac{\partial d_{0k}}{\partial x_k} \right) v \right\rangle + \langle w, \bar{c}(u) v \rangle \\
 &= - \sum_{i,j=1}^{n'} \langle X_j w, X_i (\bar{a}_{ij}(u) v) \rangle - \sum_{i,j=1}^{n'} \left\langle X_j w, \left(\sum_{k=1}^n \frac{\partial d_{ik}}{\partial x_k} \right) \bar{a}_{ij}(u) v \right\rangle \\
 &\quad - \sum_{j=1}^{n'} \langle w, X_j (\bar{b}_j(u) v) \rangle - \sum_{j=1}^{n'} \left\langle w, \left(\sum_{k=1}^n \frac{\partial d_{jk}}{\partial x_k} \right) \bar{b}_j(u) v \right\rangle \\
 &\quad - \langle w, X_0 v \rangle - \left\langle w, \left(\sum_{k=1}^n \frac{\partial d_{0k}}{\partial x_k} - \bar{c}(u) \right) v \right\rangle
 \end{aligned}$$

$$\begin{aligned}
&= - \sum_{i,j=1}^{n'} \langle w, {}^t X_j [(X_i \bar{a}_{ij}(u))v + \bar{a}_{ij}(u)X_i v] \rangle - \sum_{i,j=1}^{n'} \left\langle w, {}^t X_j \left[\left(\sum_{k=1}^n \frac{\partial d_{ik}}{\partial x_k} \right) \bar{a}_{ij}(u)v \right] \right\rangle \\
&\quad - \sum_{j=1}^{n'} \langle w, (X_j \bar{b}_j(u))v \rangle - \sum_{j=1}^{n'} \langle w, \bar{b}_j(u)X_j v \rangle - \langle w, X_o v \rangle \\
&\quad - \left\langle w, \left[\sum_{k=1}^n \frac{\partial d_{0k}}{\partial x_k} - \bar{c}(u) + \sum_{j=1}^{n'} \left(\sum_{k=1}^n \frac{\partial d_{jk}}{\partial x_k} \right) \bar{b}_j(u) \right] v \right\rangle \\
&= \sum_{i,j=1}^{n'} \langle w, (X_j X_i \bar{a}_{ij}(u))v + (X_i \bar{a}_{ij}(u))X_j v + (X_j \bar{a}_{ij}(u))X_i v + \bar{a}_{ij}(u)X_j X_i v \rangle \\
&\quad + \sum_{i,j=1}^{n'} \left\langle w, \left[\left(\sum_{k=1}^n \frac{\partial d_{jk}}{\partial x_k} \right) (X_i \bar{a}_{ij}(u)) \right] v \right\rangle + \sum_{i,j=1}^{n'} \left\langle w, \bar{a}_{ij}(u) \left(\sum_{k=1}^n \frac{\partial d_{jk}}{\partial x_k} \right) X_i v \right\rangle \\
&\quad + \sum_{i,j=1}^{n'} \left\langle w, \left[X_j \left(\bar{a}_{ij}(u) \sum_{k=1}^n \frac{\partial d_{ik}}{\partial x_k} \right) \right] v \right\rangle + \sum_{i,j=1}^{n'} \left\langle w, \left(\bar{a}_{ij}(u) \sum_{k=1}^n \frac{\partial d_{ik}}{\partial x_k} \right) X_j v \right\rangle \\
&\quad + \sum_{i,j=1}^{n'} \left\langle w, \bar{a}_{ij}(u) \left(\sum_{k=1}^n \frac{\partial d_{jk}}{\partial x_k} \right) \left(\sum_{k=1}^n \frac{\partial d_{ik}}{\partial x_k} \right) v \right\rangle - \sum_{j=1}^{n'} \langle w, \bar{b}_j(u)X_j v \rangle - \langle w, X_o v \rangle \\
&\quad - \left\langle w, \left[\sum_{j=1}^{n'} (X_j \bar{b}_j(u)) + \sum_{k=1}^n \frac{\partial d_{0k}}{\partial x_k} - \bar{c}(u) + \sum_{j=1}^{n'} \left(\sum_{k=1}^n \frac{\partial d_{jk}}{\partial x_k} \right) \bar{b}_j(u) \right] v \right\rangle \\
&= \sum_{i,j=1}^{n'} \langle w, \bar{a}_{ij}(u)X_j X_i v \rangle \\
&\quad + \sum_{j=1}^{n'} \left\langle w, \left[\sum_{i=1}^{n'} (X_i \bar{a}_{ij}(u)) + \sum_{i=1}^{n'} (X_i \bar{a}_{ji}(u)) + \sum_{i=1}^{n'} \bar{a}_{ji}(u) \left(\sum_{k=1}^n \frac{\partial d_{ik}}{\partial x_k} \right) \right. \right. \\
&\quad \quad \left. \left. + \sum_{i=1}^{n'} \bar{a}_{ij}(u) \left(\sum_{k=1}^n \frac{\partial d_{ik}}{\partial x_k} \right) - \bar{b}_j(u) \right] X_j v \right\rangle - \langle w, X_o v \rangle \\
&\quad + \left\langle w, \left[\sum_{i,j=1}^{n'} X_j X_i \bar{a}_{ij}(u) + \sum_{i,j=1}^{n'} \left(\sum_{k=1}^n \frac{\partial d_{jk}}{\partial x_k} \right) (X_i \bar{a}_{ij}(u)) + \sum_{i,j=1}^{n'} X_j \left(\bar{a}_{ij}(u) \sum_{k=1}^n \frac{\partial d_{ik}}{\partial x_k} \right) \right. \right. \\
&\quad \quad + \sum_{i,j=1}^{n'} \left(\sum_{k=1}^n \frac{\partial d_{jk}}{\partial x_k} \right) \left(\sum_{k=1}^n \frac{\partial d_{ik}}{\partial x_k} \right) \bar{a}_{ij}(u) - \sum_{j=1}^{n'} X_j \bar{b}_j(u) - \sum_{k=1}^n \frac{\partial d_{0k}}{\partial x_k} + \bar{c}(u) \\
&\quad \quad \left. \left. - \sum_{j=1}^{n'} \left(\sum_{k=1}^n \frac{\partial d_{jk}}{\partial x_k} \right) \bar{b}_j(u) \right] v \right\rangle.
\end{aligned}$$

Therefore

$$\begin{aligned}
 {}^tP_u = & \sum_{i,j=1}^{n'} \bar{a}_{ji}(u)X_iX_j + \sum_{i,j=1}^{n'} (\bar{a}'_{ij}(u) + \bar{a}'_{ji}(u))(X_iu)X_j \\
 & + \sum_{i,j=1}^{n'} (\bar{a}_{ij}(u) + \bar{a}_{ji}(u)) \left(\sum_{k=1}^n \frac{\partial d_{ik}}{\partial x_k} \right) X_j - \sum_{j=1}^{n'} \bar{b}_j(u)X_j - X_o \\
 & + \sum_{i,j=1}^{n'} X_j(\bar{a}'_{ij}(u)(X_iu)) + \sum_{i,j=1}^{n'} \left(\sum_{k=1}^n \frac{\partial d_{jk}}{\partial x_k} \right) \bar{a}'_{ij}(u)(X_iu) \\
 & + \sum_{i,j=1}^{n'} \bar{a}'_{ij}(u)(X_ju) \left(\sum_{k=1}^n \frac{\partial d_{ik}}{\partial x_k} \right) + \sum_{i,j=1}^{n'} \bar{a}_{ij}(u)X_j \left(\sum_{k=1}^n \frac{\partial d_{ik}}{\partial x_k} \right) \\
 & + \sum_{i,j=1}^{n'} \bar{a}_{ij}(u) \left(\sum_{k=1}^n \frac{\partial d_{jk}}{\partial x_k} \sum_{k=1}^n \frac{\partial d_{ik}}{\partial x_k} \right) - \sum_{j=1}^{n'} \bar{b}'_j(u)(X_ju) - \sum_{k=1}^n \frac{\partial d_{0k}}{\partial x_k} \\
 & + \bar{c}(u) - \sum_{j=1}^{n'} \bar{b}_j(u) \left(\sum_{k=1}^n \frac{\partial d_{jk}}{\partial x_k} \right).
 \end{aligned}$$

Since

$$X_j(\bar{a}'_{ij}(u)(X_iu)) = \bar{a}''_{ij}(u)(X_ju)(X_iu) + \bar{a}'_{ij}(u)(X_jX_iu),$$

the thesis follows. ■

In order to obtain hypoellipticity results for both P_u and tP_u we can thus prove hypoellipticity for non-linear operators of the form

$$\begin{aligned}
 P = \quad P_u = P(t, x, u, D) = & \sum_{i,j=1}^{n'} a_{ij}(t, x, u, X_1u, \dots, X_{n'}u)X_iX_j \tag{5} \\
 & + \sum_{j=1}^{n'} b_j(t, x, u, X_1u, \dots, X_{n'}u)X_j + X_o + c(t, x, u, X_1u, \dots, X_{n'}u)
 \end{aligned}$$

where all the coefficients a_{ij} , b_j , c are complex valued and real analytic.

Also for the operator (5) a result of C^∞ -hypoellipticity on the torus can be proved, following [X], by the use of para-differential operators. We shall therefore assume, in the following, that $u \in C^\infty(\mathbb{T}^N)$ is a fixed solution of the equation $P_u u = f$, for P_u defined by (5) and $f \in G^s(\mathbb{T}^N)$, and that the following a-priori estimate is satisfied for some $0 < \delta \leq \delta'$ and for all $v \in C^\infty(\mathbb{T}^N)$:

$$\| \| v \| \|_\mu := \sum_{i,j=1}^{n'} \| X_i X_j v \|_\mu + \sum_{j=1}^{n'} \| X_j v \|_{\mu+\delta} + \| v \|_{\mu+\delta'} \leq C_u (\| P_u v \|_\mu + \| v \|_\mu), \tag{6}$$

where $C_u = C_u(u, X_1u, \dots, X_{n'}u) \leq C$ is a positive bounded function and μ is a fixed integer with $\mu > N/2$, so that the Sobolev space $H^\mu(\mathbb{T}^N)$ is an algebra.

Let us also assume that, for every $x \in \mathbb{T}^n$, the fields

$$X'_j = \sum_{k=1}^n d_{jk}(x) \frac{\partial}{\partial x_k}, \quad j = 1, \dots, n'$$

span the tangent space $T_x(\mathbb{T}^n)$,

Under these assumptions we proved in [BZ2] the following result of globally G^s -hypoellipticity on the torus, for all $s \geq 1$:

Theorem 1.2. *Let P be an operator of the form (5), with all the coefficients a_{ij} , b_j and c real analytic. Assume that the real analytic vector fields $\{X_j\}_{j=0,\dots,n'}$ are rigid and that for every fixed $x \in \mathbb{T}^n$ the $\{X'_j\}_{j=1,\dots,n'}$ span $T_x(\mathbb{T}^n)$.*

Assume moreover that $u \in C^\infty(\mathbb{T}^N)$ is a solution of the equation $P(t, x, u, D)u = f$, for some $f \in G^s(\mathbb{T}^N)$, with $s \geq 1$, and that the a-priori estimate (6) is satisfied. Then also $u \in G^s(\mathbb{T}^N)$.

Coming back to the operator (3) we can prove (cf. [BZ2]) that both $P = P_u$ and its transposed operator tP_u satisfy the a-priori estimate (6). Therefore, from Theorem 1.2, if $u \in C^\infty(\mathbb{T}^N)$ is a solution of $P_u u = f$ or of ${}^tP_u u = f$ for $f \in G^s(\mathbb{T}^N)$, with $s \geq 1$, then also $u \in G^s(\mathbb{T}^N)$.

References

- [BG] M.S. Baouendi - C. Goulaouic, *Nonanalytic-hypoellipticity for some degenerate elliptic operators*, Bull. A.M.S., **78** (1972), pp. 483-486
- [BZ1] C. Boiti - L. Zanghirati, *Global analytic regularity for non-linear second order operators on the torus*, Proc. A.M.S., **131**, n. 12 (2003), pg 3783-3793
- [BZ2] C. Boiti - L. Zanghirati, *Global Gevrey and analytic regularity for non-linear operators on the torus*, to appear in Rend. Sem. Mat. Univ. Pol. Torino
- [BT] A. Bove - D. Tartakoff, *Optimal non-isotropic Gevrey exponents for sums of squares of vector fields*, Comm. Part. Diff. Eq., **22** (1997), pp. 1263-1282
- [CH] P.D. Cordaro - A.A. Himonas, *Global analytic hypoellipticity of a class of degenerate elliptic operators on the torus*, Math. Res. Lett., **1** (1994), pp. 501-510
- [H] L. Hörmander, *Hypoelliptic second order differential equations*, Acta Math., **119** (1967), pp. 147-171
- [T] D.S. Tartakoff, *Global (and local) analyticity for second order operators constructed from rigid vector fields on products of tori*, Trans. of A.M.S., Vol. 348, n. 7 (1996), pp. 2577-2583
- [X] C.J. Xu, *Regularity of solutions of second order non-elliptic quasilinear partial differential equations*, C.R. Acad. Sci. Paris, Sér. I, n. 8, t. 300 (1985), pp. 235-237

Dipartimento di Matematica
Via Machiavelli 35, 44100 Ferrara, Italy
e-mail: c.boiti@unife.it